1. e T)) ¢ are three non-coplanar vectors and p, g, r are vectors defined by
@ —
o - =3
F bxe e cxa S axbi
@ b @ @ b @ @ b ¢l
—> >
(a + b) E)+(b + ) q +(_c>+3)) T is
(A) 0 4By 1 ) 2 (D) 3
9. Iflines X=1-¥=-2_2z-8 . x-1_y-5_2z-6 . mytually perpendicular,
-3 2k 2 3k 1 -5
then k is equal to
10 7
= (Bt L D) -7
7 10 (&) 10
g. The distance between the two planes 2x + 3y + 4z=4 and 4x + 6y + 82=12 is
(A) 2 units (B) 8 units (©) -2 units (D) 4 units
J29
é. The sine of the angle between the straight line ~— 2 y—; - 2=% and the plane
2x—-2y+z=5 is
it 2 3 3
4) —&— B) —F c — D) ——=
52 52 20 J50
5. The equation xy = 0 in three-dimensional space represents
@ (A) a pair of straight lines X
(B) aplane
427 a pair of planes at right angles
(D) a pair of parallel planes
St : . x-38 y—-6 z-4.
6. The plane containing the point (3, 2, 0) and the line T S is
@
J&) x-y+z=1 (B) x+y+z=5
(C) x+2y—z=1¢% (D) 2x-y+z=5N
Space for Rough Work / 2,883 #Oﬁ@t 2}5 " & |
: 2 e
20O et
g -2 !

M B-1 =R o st =& -k £k -©
e

i -0
K= +

0 (.6'33? i LH’ Q

- > = :
1. a, b, ¢ wodeIDHBOBO0D BBIriwh sy p, q, r TOBRY,

3. o0 IDIOnY 2x + 3y + 4z =4 DR 4x + 6y + 8z = 12 SR BedIp

(&) 2adnsne  (B) Sandiw () 72_3 SoRnv (D) 4 3RRnW
s X 2ogy . I % e 0ead a3 2x— 2y + 2 = 5 Sebdon IS e I
1 2 3 3
By = ®) —= © = D) ——=
i) 542 52 ) %0 J50

5. 8 3VARINYE alrdBY Swedh solredhd Hendd xy =0 Bestn GfcNab Tl
(A) 200 2eed Cednwd
(B) ol ID30
(C) 20 2eed BOFYT LouTNDS BShBLriwh
D) o Beed JRT2030 IDSLNRH

6. (3,2/0) 000 Ehm s iSlONNa
= il 5 4

(A) x-y+z=1 (B) x+y+z=5
©C x+2y-z=1 (D) 2x-y+z=5

4

Seafob w¥ripoltha IDHBOD)

> b xc ?l)= cxa - Rk 92
PPEEF A T Y TG
(B + B #(Bir S de g r 3aPo
(A) O (B) 1 (C) 2 (D) 3
x =1 y—2 73 x-1 y-5 >z-6
2 T o ; it 1 = Sesriwh wordn,omd vowmeNg
PR
10 7

= - — (C) -1 -

(A) 7 (B) 10 ) 0 o -7

Space for Rough Work / 2,883 %"O;‘o’i ;'go"
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8.

9.
¥

COI ner Points Of the feasible Ieg-ion fol an LPP are ( ] )9 ’ )’ ( & )’ ( 2

z = 4x + By be the objective function. The minimum value of z occurs at
(A) Only (0, 2)

(B) Only (3, 0)

(C) The mid-point of the line segment joining the points (0, 2) and 3, 0)

AD) Any point on the line segment joining the points (0, 2) and (3, 0)

A die is thrown 10 times. The probability that an odd number will come up at least once is

11 1013

W o5 ®) oz
1023 1

STy D) 021

A random variable X has the following probability distribution :

’ X 0 1 2
25 1
J PE) s k =

If the mean of the random variable X is %, then the variance is

1 5 7 11
A) — e . D ==
18 (B) T (C) 78 (D) T

If a random variable X follows the binomial distribution with parameters n = 5, p and
P(X = 2) = 9P(X = 3), then p is equal to

1 1
(A) 10 B) — C)i5 D) =
(B) - (o)) (D) -

a Space for Rough Work / 2.0t 30x8 3¢

e S

7.

8.

9.

(0, 2), (8, 0), (6, 0), (6, 8) a) (0, 5) wrvh Sedead Fperm Mot FDTEDON Dowae, 3dedd
ByortdomnveNd), z = 4x + 6y VB B3 TNGY, z 3 838 BeJaly BYAS odroa DomDAIRO
Beduinad

(A (0,2) 8%z,
(B) (3,0) @03
(©)  (0,2) @3 (3, 0) NV, BeeBrbS BOY Seasod Do

D) (0, 2) @) (3, 0) NV, LeedhE JO¥ Seslod cHed abyo)Be Dot

2o TevaR) 10 Jo euth¥RINE. B word Bo - Boadodn ripeddba TozisdeadBaln

11 1013
! B
(&) 1024 B 1024
1023 1
© 1024 @ 1024

X oo aretils u¥ds) 8 3¥NSod BouiSAeabBad BoiBabR) Beods :

X 0 1 2
25 1
PX) 36 k 36

airizds o0 X & RoeRBay 3 eNGY, odd dygay

eAD 7 11
A) = ool Soi D) =
(A) 13 (B) 18 (©) i (D) 18

10. o8 @0 X alv n = 5, p @ PX = 2) = 9P(X = 3) dahmaodridpodrt BIT BorBob

eDBOIES 8R p & Bedaiy

1

1
(A) 10 (B) 0 © 5 (D) 5
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a3

12,

13.

16.

mber of subsets of the first

Two finite sets have m and n elements respectively. The total nu
t. The values of m and n

set is 56 more than the total number of subsets of the second seé
respectively are

(A) 17,6 ® 5,1 ©7 6,3 @) 8,7
If [x]%-5[x] + 6 =0, where [x] denotes the greatest integer function, then
(A) xel3,4] ¥ (B) xel24) €y xel28 D) xe(2,3]

If in two circles, arcs of the same length subtend angles 30° and 78° at the centre, then the
ratio of their radii is

5 13 13 4
@a = = = D) e
13 Sl 2F N o
If A ABC is right angled at C, then the value of tan A + tan B is
2 2 2
(A) a+b (B) . 2o o5 )
be A0 ab ac
The real value of ‘a’ for which =150« is purely real is
1+ 2isina
(A) (n+1)%,neN (B) (2n+1)%,1'lEN

(C) nmneN D) (2n—1)%,neN

The length of a rectangle is five times the breadth. If the minimum perimeter of the
rectangle is 180 cm, then

/(‘B’), Breadth = 15 cm

(C) Length <15cm (D)

(A) Breadth <15cm

Length = 15 cm

The value of 4°C, + 4803 + 47C3 + 4603 + 45C3 * 0. is

(AY 2067 67
(o Hki(e 1y @,
Space for Rough Work / .08 30xg 3¢
plg(‘, A o oo .g—u— e 18"
sE 4 c 30

11.

12.

13.

14.

15.

16.

17.

20 0D Meny rismodny Koalrivh Sz m ) n GNG. dedode ARG Ly, LuSiorY
Roal;aly aTERe Neg wey) euERnRv KoalNod 56 B ad. m ehd n & FSAD FhzaN

A 17,6

B) 5,1 (C) 6,3 (D) 8,7

[x] 2020BRY, 168 Fomeros ev3 @om BB, [x]2 - 5lx] + 6 = 0 At
A xel3,4] B) xecl2,4 (©) xel23 (D) xe(2,3]

o0d IV TZres evgdhs Bosnw 30° @ere 78° Zeenval) Beog e evoed @eBUC.
oFnY SRnv edbzeEy)

51 13 ‘13 4
(A) T (B) = (C) == D) —

2 2 2
(A) a+b (B} Lo o L oy
be ab ac
L ) el s moat. airr e e e e
1+ 2isina gt ! =
(A) (n+1)1‘2-,nem (B) (2n+1)%,neN

(C) nmneN (D) (2n—1)%,n€N

wotd Bab3T eugd) erud 5 S, ). Bah3E 8dg WIS 180 cm ST, &n

(A) ero<15cm ! (B) ero>15cm
(C) ewvg<15cm (D) evgd =15cm
4903 -+ 4803 EE 4703 + 4603 + 4503 B 4504 S Jedain

(&) ey B 3°Cs

(©) g8 () ey

Space for Rough Work / 2.3 30.‘-;’5; 3¢




18. In the expansion of (1 + x)"

C C. C

—1—+2‘;‘2+36'—3+ ...... +n—2— isequal to

CU Cl 2 T

AT “"“2‘“ ® 2 (©) “;1 (D) 3n(m+1)

eyl

19. If S, stands for sum to n-terms of a G.P. with ‘a’ as the first term and ‘T’ as the common
ratio then S, : Sy is
1 1
(A) m+1 =3 (D)
) B Sy (Crers T
20. If AM. and G.M. of roots of a quadratic equation are 5 and 4 respectively, then the
7 quadratic equation is
(A) x*-10x-16=0
(B) x2+10x+16=0
(€ x*+10x-16=0
(D) x®-10x+16=0
%al. The angle between the line x + y = 3 and the line joining the points (1, 1) and (- 3, 4) is
ik
(4) tanl(7 -1 (__]
) /(fB'r tan -
(C) tan! (%) (D) tan! (%)
22. The equation of parabola whose focus is (6, 0) and directrix is x=—6 is
M y?=24x (B) y®=-24x
(C) x2=24y (D) x%=-24y
\ Space for Rough Work / 2.0&3 305% i ol
Do Lhz H oo )
ﬁi \ el o Iy
. AU Y ———T(- 9,0 rD 5
| - il a0y 1 -5 2 (,[/’.ﬁ“ [+ H
- E‘ﬁ:‘ﬁ N 4 (8)
14 D
o nt 0o (5 nt 4 5 €> s
A (7] e
ne TR 3 q6 )

18. (1+x)" 3 IBCHbO
& C
Y +20—2 sgeeg oo Y i
n(n+1) n n+1
(A) ® - () (D) 3n(n+1)
2 2 2
19. B0V BB ‘B @) Tedr, BER6 T BoBUS worb rvEee3d Zeka dedu n-BonY SPZT,
Sp 90T BOMAID S, : Spp, & BeSadn
1 1
Ay T n_1 (D)
o il r® +1 o -1
20. woth BriFRdesTng hwony T30 g, @hd) rdeeds dg gFmN 5 D) 4 estyort
2B SriF Bhesdeng)
(A) x*-10x-16=0
B) x2+10x+16=0
(C) x2+10x-16=0
(D) x2-10x+16=0
21. Domrid (1, 1) ) (-3, 4) &), b BoWSess ez BV Besd x + y = 3 WY IDID
BRI
il =1 1
(A) tan™1(7) ®) tan”|-Z
2
(©) tan! [%) (D) tanl (7)
22. 39D (6, 0) D) WB x = — 6 &, OB BTFLALTS BAESTHD
(A) y%=24x (B) y%=-24x
(C) x%=24y (D) x2=-24y
Space for Rough Work / 2.0¢32 %vﬁii '.-'i?
EaE ' 9)
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(D)

-

(C)

N | -

The negation of the statement

l“‘f

“For every real number x; xZ + 5 is positive”

For every real number x; xZ + 5 is not positive.
For every real number x: x? + 5 is negative.
There exists at least one real number x such that x% + 5 is not positive.

There exists at least one real number x such that x? + 5 is positive.

b

Let 2, b, ¢, d and e be the observations with mean m and standard deviation S. The
standard deviation of the observations a+k, b+k c+k,d+k and e+k is

(A) kS (B) S+k (C) % PT S

26. Let f:R >R begivenby fix)=tanx Thenf*(1)is
Ay 4B) {nn+£:neZ]
=z -
©: = (D) {n::+-z—:neZ]
3 3,

27. Let f:R - R be defined by ﬁx)=x2+l.Thenthepreimag0£0f17and—3re£pecﬁvely
» are
68) ¢, (4,—4) (B) 13,-3L¢
€7 (4,—4), ¢ D) 14,-4},12,-2)
Space for Rough Work / 2.T85 &:ﬁﬂtz’g (G dﬁ‘i’w
: A -5
N ‘(" \ M
/ \
- g, (-1
M B-1 : " 5 (10) Atih

(€ (D)

=

A
2

“B3ceoth T3 Bosl, x 1; X + 5 100 G g Bosl,drns”
& ovdah F5a0TY

(A) B3aleord TeBIB Tod, x 11; X% + 5 Giea,8 Do,

(B) 3B3aleoth ZerAIB Bod; x 11; x% + 5 2oh 2esea B Boal,aieic.

(€) x2+5 oowcdh Gmed ETeNutie 2ia arngymetde woth Seads dosl, x 8B TOD3T.

D) x2+5 cowd GRS STNDE drgynesde wod TeaA8 o, x 6IZTOW3T.

a, b, ¢, d ) e TZ03ri0r m BOAD (mean) Forte S TS 0 (SD) eNgd. a+ k. b+ kK
c+k,d+kda) e + k G038y d5ams SdesSain

(A) kS (B) S+k (C) (D)

5 s
k

f:R— R oow oudas fix)=tanx domd Samaddoer. £ (1) sowd

(A) (B)

{M+%:DEZ‘

L

(o] (D) lnx+-;—:neZl

| A

27. f:R—> R oowmd fix) =x2 + 1 oo S3me,ddmert 17 ) — 3 S Fea Dowriw 3N

(A) ¢,{4,-4)

{4’ s 4’: ¢

B) {3,-3L¢

(©) (D) {4,-4},12,-2}

Space for Rough Work / 2.0t Scrﬁ‘@
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28. Let (gof) (x) = sin x and (fog) (x) = (sin Jx )2. Then
(B) ﬂx)=sin\[;, gx) = Jx

(A) ﬂx) = Sinz x, g(x) = ‘ﬁ
2
(D) fix)= sinvx , gx) =X

7 flx) =sin?x, g(x)= vVx

29, LetA={2,9,4,5, . .o 16, 17, 18). Let R be the relation on the set A of
7 positive integers defined by (a, b) R (¢, d) if and only if ad = be
Then the number of ordered pairs of the equivalence class of (3, 2) i

(A) 4 B) 5 © 6 o 7

80. If cos!x+cosly+coslz=3n, then x(y+2)+y(z+x)+2z(X+Y) equals to

@
A& 0 (B) 1 (C) 6 D) 12

a_l. If 2sin~1x—3coslx= 4, xe[-1,1] then 2sin~!x+ 3 cos~! x is equal to

4 - 6m 6m—4 3
M) B oF D) 0
5 ~(B) : (C) : (

32. If Ais a square matrix such that A% = A, then (I + A)? is equal to
(A) 7A-1I (B) 7A 4€). TA+I (D) I-7A
ikl
33. IfA= (1 J , then A1 s equal to

) 28A B 2°A @ 204 ) 2 A

x-3 2x2_-18 2x%_381
3¢4- If fix)=|x—-5 2x2-50 4x°— 500/, thenfl1).f3)+A3).H5)+R5). A1) is
1 2 3

A -1 B) 0 € 1 ‘ D) 2

ordered pairs of
for all (a, b), (¢, d) inAxA,

Space for Rough Work / 2,083 g0 03@#

S s
M

ol 2
N g o ®

28.

29.

30.

31.

32.

33.

34.

(gof) (x) = sin x P (fog) (x) = (sin/x )% cow O eV FY Foaleea nva) o

(B) fix)=sinVx, gx) = Jx
(D) flx)=sinvx, g(x)=x*

(A) flx)=sin?x, gx)=x
(C) ftx)=sin?x, gx) = Jx

A=12,3,4,5, ...c..0o0e 16, 17, 18] cowmehcd. A x A 3OS owp (a, b), (¢, d) nori ad = be

adhd dte adde Jesed (a, b) R (¢, d) erd gaed,3 Ipmerodny ghador,Aeha R oow
TBowora, A ried ehed a%anéea&dd eri (3, 2) 3 IDIad SrFCOha ghalwr, v Toaad

(A) 4 (B) 5 (C) 6 (D) 7

cos x+cosly+coslz=3memm x(y+2)+y(z+x) +zx+y)3JJ

A 0 (B) 1 C) 6 (D) 12

2sinlx—3coslx=4xe[-1,1] &30 2 sin~! x + 3 cos™! x & LJadw

4 - 6n 6w —4 3n
) — (D) o
(A) 5 (B) 5 (C) 9 )

A Srie 3038, airenay A2 = A edid (I + A)® S Jeain

A) TA-I (B) 7A © TA+I M) 1-7A
it 10
A= [1 1) 58 A0 3 3edaiy
A) 28A B) 2°A (© 219a (D) 214
x-3 2x2_18 2x%-81
flx)=|x -5 2x2-50 4x°—500],83f1).3)+A3).f5)+A5). (1) IJai
1 2 : 3
(A) —1 ®) 0 © 1 D) 2

Space for Rough Work / .83 303% %#
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lcloias 3 ; al to
s hen o 18 equ Yooty
35. If P=|1 : . .. Aand |Al =4t
; i 2 is the adjoint of a 3 x 3 matrix 35. P=|1 3 3| aw3x33n33 A Sori3zeedanng ) |A| =4, sort a Bda
2 4 "4
(A) 4 (B) 5
s e A) 4 (B) 5
(&) alil D) o
X o0 x 1.1 dB xovil ok
:?g. IfA= 1 ,andB: 1L | ,thena: is 96 A= t D2BB=[1 x 1f, ﬁddggﬁ'ddom
: T A 2
sl x
i ;
(A) 3A B) -3B (A) 3A (B) -3B
( 3B+1 .
& 3B+ ADY 1-3A (C) 8B+1 (D) 1-3A
COSX X 1 COSX X 1 - £
- > - (
87. Let fix)=|[2sinx x  2x|.Then lim fX)_ 3. fW=|2sinx x 2. om0 BN SO
P . x—0 42 i x
sSinx X X s = x
A) -1 B) 0 (A)sl B) 0
© 3 D) 2 ©) 3 D 2

38. abnadde ered b > 111 BowohdB vEurns IFE IFeISrien BowoRATeB YN adred wotd

38. Which one of the following observations is correct for the features of logarithm function to
©o3rih BORPNLIS ?

® any baseb> 1 ?

(A) The domain of the logarithm function is R, the set of real numbers.x (A) eozones uus‘ﬁe‘d ge3 @ R, ©ogdd QR TS ;doajér]q a=Tarlgleiin
(B) The range of the logarithm function is R*, the set of all positive real numbers. (B) orins VBTG T3al R*, 0063 oun Grea,8 @e3s Joalniv neashtds.
)Q)/ The point (1, 0) is always on the graph of the logarithm function.

(D) The graph of the logarithm function is decreasing as we move from left to right.

(C) (1, 0) Do adreezeriwe VRS LVIF T SFab HedLIT.

(D) BB WU, BOIBB LFNRE I FE SFodn BLSATPNDIT.

( -
\ Fand
,.\ \& R Space for Rough Work / 2.0& 30..‘5'% .-"‘u;# 3 Space for Rough Work / 2,883 GU#% ‘%ﬁ
Al T ) o L R
& =
» QX
M B-1 B8 x7 Ly (14) 6 s :
SRE % jot ¥ M B-1 %@ (15)
\ % \ .ve Gd - ” 218 ‘




39 The function fix) = |cos x| is

pLe
(C)  neither continuous nor differentiable at (2n + 1)‘2" neZ
(D) not differentiable everywhere
40, If y=2x°* then % D
A) 2 B 6 ) 3 e

41,

A " — 1H2
42. The value of C in (0; 2) satisfying the mean value theorem for the function flx) = x (x = D

AT everywhere continuous and differentiable

n
! tiples of =
(B) everywhere continuous but not differentiable at odd multip 2

Let the function satisfy the equation fix + y) = fix) fly) for all x,
If f(5) = 3 and £'(0) = 2, then f'(5) is

_Ar 6 (B) 0 (©)

(D) -6

L5}

#  x €0, 2]is equal to
3 4 1 2
(A) — = b (D)=
(B) 3 (C) 3 3
d 2 2 f2 + X .
43. — el
S e {:cos (cot 3 H is
@ o ) $Ed © 1 @)~
4 g 4
44. For the function fix)=x3—6x2+12x—3; x=2 is
&)  a point of minimum (B) a point of inflexion
(C) not a critical point ¥ (D) a point of maximum
Space for Rough Work / 2,083 ﬁoﬁi ﬂ@%’
AR
% o -3 G+ m'w
a - g o
,, g Sk
M B1  E4E 5=(16)
Ciiah x ) x
2 s \&r’L z 53- %
@ B L B

3( 1 - AT

y € R, where fl0) = q,

40.

41.

42.

43.

fx) = | cos x| NI

(A4) ou 8 vdyy 3 & ohchId
(B) 902 38 0y A3 end 5 ® 88 rhasnvos dotrive AERMeRIBY
T
© @+ 12, n e 239 om0 vgm B FreyRmend shdde
(D) 29383 Ag3rtowyBe
y=2x% oo x=130 I oy
fdx
A4 2 (B) 6 © 3 D 1

2ot VERD a0y x,y € Rl fix + y) = fix) Ay), 2Q fl0) = 0, dow XeBTRIRY, S

3BIT. f5) =3 DB £(0) = 2, ewort £'(5) adw

(A 6 (B) o (©) 5 D) -6

T[oeRD oded a_s,abeosaaag 23383 flx) =x (x — 1), x < [0, 2] 3339 (0, 2) 3T C 3

3 4 1 2

i 4 1 o 2
A Bl @ @ 2

d 2 -1 12+x
e t
{cos (co fz = }] aly
3 1 1 1

o - = = D). ~
(A) ) (B) 5 (0) 5 1
flx) = x% - 6x% + 12x — 3 VBB, x = 2 FOWD
(A) 20D 88 PeJabh DothazeNd (B) ot B0833F= DotheeNdd
(C) 2ot Jdmerads DotdbaaNe) (D) woth nog ejab DothaeNd

Space for Rough Work / 2.T3 ﬁ"@ﬂ% %ﬂ?
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The function x*; x> 0 is strictly increasing at

(A) VxeR e

The maximum volume of the right circular cone with slant height

(A) 43 n cubic units
(C) 33 x cubic units

If fix)=xe1-% then fix) is

(A) increasing in R

(C) decreasing in [—-;-, 1}

1
() —pm tan1|SBX
oW [3 i

4
I (1-x%)sinx . cos2x dx =

—x

1 (D) X< 0
0 ¢ o s G ;
6 units is
(B) 1643 nt cubic units

(D) 6+/3 n cubic units

(B) decreasing in R

g [
(D) increasingin | =

(B)

) __1_tan_1(2cosx]+c

(B) 2n-n°

(D) 0

¥

peTs

2\ Space for Rough Work / i)
L ] (?"‘"\n Az iﬁb * 5
P (]L\D(Q b~ Y

4e) “EG L
X

45. & BYNS oInRZhdod x* x > 0 v HP By BRI ?
(A VxeR (B) x<}- () x>-l- (D) x<0
e e
46. 4O o307y 6 drRsnva) atd woth wuEENENts Zodd rdg IRz
(A) 431723 Insnw (B) 1643 n &= adnand
(C) 331 R Brosriw (D) 637 dresnid
47. o’odﬂRi f(x) D, flx)=x eX1-% aomdh Zeen, v
(A) RO 3B (B) RSO Sy
©) [—% 1} 30 gD D) [—% 1] R0 BRI
48. __sinx dx =
I S+ 4coszx
P IR (dcoex) o ® -L tanl (cosx) +C
(A) 23 tan ( % ] 3 3
1 _1 (cosx 1 _1(20031)
gl C D)~ dan M S S
(C) 2\[§ t: ( 3 ) J§ 3
T
49, I (1-x2)sinx.cos2x dx =
-7
1'!:2
(A) n- ) B) 2r-nd
3
(T D o
2
Space for Rough Work / 2.0t 6053* %@
M B-1
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1

50. j dx =
* x[6(10gx)2+710gx+2]

1 2logx + 1 2logx+11 ¢
A =1 — B) 1 D
I 3logx + 2 E o€ 3logx + 2
3logx + 2 1 3logx+2| , ¢
(G lopiliEean =2 2 D) =1 e
g‘2logx+1 e D)5 18| Slogx + 1
DX
sin —
51. j 2 dx=
z sin =
7
(A) 2x+sinx + 2sin 2x +C (B) x+2sinx+2sin2x+C
(C) x+2sinx+sin2x+C (D) 2x+sinx+sin2x+C
5
52. j([x—3|+f1—')dx=
@ x|
1
KT 12 (B) g © 21 D 10
53. lim ‘n - = 2 P i =
Z n — co [n2+12 ne 497 g n? ¢35 on
14 bis
&) 7 (B) tan!3 (C) tan™!2 @ 3

(A) 10

(A) 0-2 sq. units
(C) 04 sq. units

9
Bk
@) ©) 9

(B) 0-3 sq. units
(D) 05 sq. units

54. The area of the region bounded by the line y = 3x and the curve y = x? in sq. units is

(D)

L1}

55. The area of the region bounded by the line y =x and the curve y = x? is

QAR

129\71‘,
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50.

51.

52.

53.

55.

J -
x[S(logx) +710gx+2]
1 2logx + 1 2logx + 1
(A) = log===bl. Bt i
2 B 3logx + 2 (E/NN05 3logx + 2
3logx + 2 1 3logx + 2
(@) lopllEssSmia s D =i | b ot A et [
4 2logx + 1 ik D 2 £ 2logx + 1
TR DX
sin=—
(2%
LaAX
sin —
7
(A) 2x+sinx+2sin2x+C (B) x+2sinx+2sin2x+C
(C) x+2sinx+sin2x+C (D) 2x+sinx+sin2x+C

(x-3] + |1-x|)dx=

et e, T

A) 12 (B) % © 21 (D) 10
lim n L L i =

nseo (n2+12 n2+22 n?+8% 5n

(A) 1‘4~ (B) tan"13 (C) tan12 (D) %

A) 10 (B) g— © 9 (D) 5

y = x J0W0eal ) y = x° SZBealriv SBDIS B33 FeSFOD)
(A) 0-2 B30 S (B) 0-3 2330 S5oxinisd

(C) 0-4 B30 IoInwd : (D) 0-5 338 Syesinisd
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dy

56. The solution of edx =x 4 1,y(0)=3 is
(A) y—2=xlogx—-x %»
(B) y—x-3=xlogx
(C) y-x-3=x+1Dlogx+1)
M) y+x-3=(x+1Dlogx+1)
. t'
57. The family of curves whose x and y intercepts of a tangent at any point are respectively
-
double the x and y coordinates of that point is
(A) xy=C ® x2+y?=C
() x2-y2=C (D) %:
iy A
58. The vectors A_])?; = 3’1'\ + 4]; and AC = 5‘i\ - 23 + 4k are the sides of a A ABC. The length
" ofthe median through A is
(A 18 B J72 (€ 33 (D) /288
A A A A A A
59. The volume of the parallelopiped whose co-terminous edges are j + k, i + k and i +j 18
&
(A) 6 cu.units UBJ 2 cu.units
(C) 4 cu.units (D) 3 cu.units
=y —> — =P .
60. Let a and b be two unit vectors and 0 is the angle between them. Then a + b is a unit
vector if
7 T 2n T
A) =2 B) 6== = D) 6==
-+ : 3 ) b 3 2
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g ‘MP% “ e THTRE
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o= B 3

dy

56. ¥(0) =3 8T 0BOT JAesdnm edx = x + 1 & 0T

(A) y-2=x[0gx_x

(B) y-x-3=xlogx

© y-x-3=(x+1) log (x + 1)

M) y+x-3=(x+1)log(x+1)
57. alngde womh DomARY ovs wotd FIFED x DB y Jendrivd TN @ DordAII x DA Y

AZerBBNY Tz e AdE S3Bealry Ie®P)

(&) xy=C B) x2+y2=C

© x2-y2=C (D) %:C

= A

58. @DEw AB =31 + 4k aa AC =51 -2 + 4k AABC ob emnivengd. A 3008 @

Beerva g Seatab svg

A) 18 B) 72 (C) 33 (D) /288

A Y A A ey

59. 20m B03T BOTBAD I 300DS BBAW | + k, 1 + k DA 1 + j 8NGO ©B0 FIFUD

(A) 633 drexnw (B) 233 Ieansd

(©) 43 3rsnwd (D) 33 SN

a i b morhon
60. @ A b riwd OV H8 IBBRAVNG) D) 6 I FSCES FDAS AeeIToNGT. a + b 2o

IBIZToNTen
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@ o= ®) 6= © 8=73 :
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